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A rosistunco ;v, is tl,,,, mi|,lu;^r^r,,,|, so as to -ive a suitable deHec-
tioii. attcr wliirh th.- lurasmin- appanitus is discoiinectecl and
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attached to a standard rell. when a resistance r^' is found, hy trial,
such that the deflection is tlie same as l)efore. ICvidentlv the
current, which flowed throu;i,di the j^^alvanonieter in the first 'case,
is^ e(|ual to the current flowin;^ in the second case; hence, if

Pa'—pf,' he the difference of potential i)etween the poii^ts A and'/?,
whilst tlu" measuring' apparatus is connected, and /''tlie K. M. 1-'!

of the standard cell.
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228. It will be observed that the introduction of the measuring
apparatus alters the resistance of the circuit, and this will affect
the difference of potential between A and B. A correction must
therefore be applieil, as follows : Let A' be the total resistance in
the circuit, and r the resistance between A and H, before the
introduction of the measuring apparatus, tjien
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Now, when the measuring apparatus is connected, as a loop, to
to the points A and />, the resistance between these points will

no longer be r, but becomes '^''^V
, and the current is altered to
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